Type 4a: Recurrence Relation Proofs - 1 assumption

Given that u, 41 = 3u, +4
and that u; = 1, prove by induction that u,, = 3" — 2



Type 4b: Recurrence Relation Proofs - 2 assumptions

A sequence of numbers is defined by

i =0l — n>l1
Prove by induction that, for n e Z*

— an _ 9n
u, 3 2
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Given that u,, , , = 5u, + 4, u, = 4, prove by induction that u, = 57 — 1.
Given that u, , ; = 2u, + 5, u; = 3, prove by induction that u,, = 2" "2 — 5.

Given that u, , , = Su,, — 8, u; = 3, prove by induction that u,, = 5"~ 1 + 2.

Given that u,, , ; = 3u, + 1, 1, = 1, prove by induction that 1, = %

Given that u, , , = Su,,, ; — 6u,, u; = 1, 1, = 5 prove by induction that u, = 3" — 2".
Given that u, , , = 6u, , , — 9u,, u; = —1, u, = 0, prove by induction that u, = (n — 2)3" - ..
Given thatu, , , = 7u, . , — 10u,, u; = 1, u, = 8, prove by induction that u,, = 2(5" 1)-2"" L

Given that u, , , = 6u, , ; — 9u,, u; = 3, u, = 36, prove by induction that u, = (3n — 2)3".



